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5.3 Definitions Related + o AC Waveforms

» The Cycle

: One complete set of

POsitive owal Negative values of an
alternating Quantiby rs called a

(cycile) . Complete eyele /s said to
spread over 3£0° or 27 yadiams

n 360" = 2n

radians
° o pe— Cyrcfe —=
e Firactsm SESUTTID,
2x x

°
% t rad. = 5%.8
7o converk {mm degrees o radians

Radians =(-Z ) x degrecs
180

- To convert from radiams fo Aegrees

Degrees = (.'_Bﬁ ) X rexdians
™
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For exomplen
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30 — rad. T
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% Time Period (T)

1+ is the bime taken by om alfcrnaking guentity to
campglele. one c?dt .
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# Instantaneous Value
—_— TRt mammitude of @ wawform (alierncking
e ltage or current ) et ey nstomk =f time . &
‘s devoted by tmall lewers suchas v,8,18. 1
"', » iz » p ek

» Amplitude (or Peak Value cr Marimum Value)

Tl et wawnn vadie
(pu. we or negative) of S altevnaking quantity i4 called aw.pMuds.
Lt is dewoted by capital fekers | suchas B, 1 Ve 3 I, efc.

x Frequency
t [F fs Fhe number =f cycles Fhat gceur M one seconel
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# Peak to Peak Value
- It &4 dekoted by EP-P or Vo.p omd represents
the 6uli uo ltcge between positive omd negative
peaks op tha wowiform (S=e the Figqure abeve.).

Tu qovarol form for the simussisel velbage o Cmrcenk
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whare ;

w = ou.qrda.. 6»&4%«:.4 Crad /sec.)
= 2xf

£ = thu-wf (Herea ) 3 He
2 Ceps)

-

time period (sac.)
B =» Ha.we,c o cleansi by ( weber/rd) .
L= L of one sicle of the coid (m) .

V=> Velocity of retation of the coid (ah-‘--ﬂm velocify = nbf)

whana £ ds tha Wa‘ ES rotokion of the coid in CHE) joumd
bt the width of the soil

If the width of the coil in meters = b

£, = 2BNEy

= 28NE (xbf) = 27 fNBA

P Azarcasf
coid

=L.b
‘ Ep = 27FNBA = wNBA {
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E xample

Sguare coid of 10 wn sicke emaed (00 +arns “ ratated 4 s fiormn
Speeal of (000 revalukion per anivukt , about cm amia ot ri amgbr
fo a aniform wegubic field of 0.5 Whm?. Calewlali the lnstant,
e lings qemsrakad , wlum the plamt of He coil W oaf right

ta ¥ fleld, ommd wiun +ha plams of the cold ix pavallel ko
o twplane of the flield.
Solubion

Max mum iaduced cwp = £, = 2xf NBA valts
The imstambonesun valuy o f tha emf = & = &, sm@
Now £ = 1000 rpm (revolukion per m.nw&.}
= looefso (revoludion per Seconc )
N=toa , B=05 Wblm', A=(10)* =106 cw
= 1072 m?
- Jn the firar cate e=0" = e:E,,.s-;aO’ =o

_ In #he second cose 9:90’ = esE,,,Sm?O‘_-Em

-2
@2 By = 2nfNBA = 2x(6eT) 100 £0-5 210
= $2.34 olts
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